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5. Level–2 [ For Classes VI to VIII ] 

PART–I : Child Development and 

                                      Pedagogy  [Qn. 1 to Qn. 30] 

PART–II  : Language : [Qn. 31 to Qn. 60] 

  (Hindi : 15 Qn. & English : 15 Qn.)  

PART–III : General Studies : [Qn. 61 to Qn. 90] 

  (Quantitative Aptitude : 10 Qn, Reasoning 

Ability : 10 Qn, G. K. & Awareness  : 10 Qn.) 

PART–IV : Science [Qn. 91 to Qn. 150] 

iz'u&iqfLrdk Øekad ,oa vks-,e-vkj- Øekad 
Question-Booklet Serial No. & O. M. R. Serial No. 
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H kk xH kk xH kk xH kk x – I / PART – I 

c ky fo d k l o f 'k {k k 'kk L=c ky fo d k l o f 'k {k k 'kk L=c ky fo d k l o f 'k {k k 'kk L=c ky fo d k l o f 'k {k k 'kk L= / CHILD DEVELOPMENT AND PEDAGOGY 

fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %  f uEufy f[ kr iz'uk s a d s m Ù kj ns us d s f y, l c lsl c lsl c lsl c ls m fpr  m fpr  m fpr  m fpr  f od Yi pq f u,A 
Direction :  Answer the following questions by selecting the most appropriate option. 

1. fu Eu fyf [k r e s a l s d kS u &l k fu ;e 
v ku q oa f 'kd r k ls la c a f/k r ughaughaughaugha   gS \ 

1) l eku rk  d k fu ;e 

2) f H kUu rk  d k  fu; e 

3) iz fr xe u d k  f u; e 

4) iz xfr d k  f u; e 

  
1. Which of the following laws is not 

related to heredity ? 

1) Law of Similarity 

2) Law of Variation 

3) Law of Regression 

4) Law of Progression 

2. fu Eu fyf [k r e sa ls d k S u&lk  cq f)  d k , d 
fØ ;k Red  ijh{k. k  u ghau ghau ghau gha   gS \ 

1) d k s g~ d k  C ykW d  fMtk bu ijh {k . k 

2) , ys Dts a M j d k  ikl &, yk ¡ x i jh {k. k 

3) l s xq bu Q k W eZ cks MZ ijh {k. k 

4) LV s uQ ks MZ&f cu s ijh{k. k  

  

2. Which of the following is not a 

performance test of intelligence ? 

1) Koh's Block Design Test 

2) Alexander's Pass Along Test 

3) Saguine Form Board Test 

4) Stanford-Binet Test 

3. fu Eu fyf [k r esa l s d kS u&lk  oLr q fu "B  iz d kj 
d k  iz'u u gh au gh au gh au gh a  gS \ 

1) f eyk u iz'u 

2) f o'ys " k. kk Red  iz'u 

3) c gq o S d f Yid  iz'u 

4) f jDr LF k ku  iz'u  

  

3. Which of the following is not an 

objective type question ? 

1) Matching questions 

2) Analytical questions 

3) Multiple choice questions 

4) Blank space questions 
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4. fi; kts d s uS f rd  fod k l fl) k a r d s v uq lk j] 
fd 'kks jko LF kk  gS % 
 

1) u S fr d  ;F kkF kZ o kn d h v oLF k k 

2) c kf /kd  uS f rd rk d h  v o LF kk 

3) ijk; Ù k uS fr d r k d h v o LF kk 

4) Lo k; Ù k uS f rd r k d h  v o LF kk 

  
4. According to Moral Development 

theory of Piaget, adolescent period 

is : 

1) Stage of moral realism 

2) Stage of morality constraint 

3) Stage of heteronomous morality 

4) Stage of autonomous morality 

5. fu Eu fyf [k r esa l s d kS u &lh fo'ks "kr k fi;k ts 
}k jk iz fr ikfnr la Kk uk Red fo d k l f l) kUr 
d h  e w rZ la fØ ;kR ed  v o LF kk ls la ca f /kr u ghau ghau ghau gha 
gS \ 
 
1) m RØ e . kh; rk  ¼ iy Vk o d h {ker k½ 
2) Ø e c) r k 
3) t ho ok n 
4) l a j{k . k 

  
5. Which of the following 

characteristics is not related to the 

concrete operational stage of the 

Cognitive Development theory 

propounded by Piaget ? 

1) Reversibility 

2) Serialization 

3) Animism 

4) Conservation 

6. o S ;f Dr d  f Hk Uu rkv ks a d s lUnH k Z esa d kS u&l k 
d F k u lgh u ghau ghau ghau gha   gS \ 
1) d k s bZ H kh nks O;f Dr f cy dq y ,d &l eku  

u gh a gk s rsA 
2) o S ;f Dr d  fH kUur k, ¡ f o'ks " kr kv ks a d s la ca/k 

e s a f op yu gS aA 
 

3) o S ;f Dr d  f Hk Uur k, ¡ v iu h l exz rk  e s a 
O ;fDr ;k s a d k s vy x d jr h gS aA 
 

4) o S ;f Dr d  f H kUu rk ,¡ d s oy  v ku q oa f'k d rk 
d k  gh  ifj. kk e gks rh  gS aA 

  
6. Which statement is not correct in 

context of individual differences ? 

1) Two persons are not exactly 

same. 

2) Individual differences are 

deviation in regards to 

characteristics. 

3) Individual differences 

distinguish individuals in their 

totality. 

4) Individual differences are the 

sole result of heredity. 
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7. tc , d  c Pps } kjk lh[ kk tk us o ky k ikB 
ya c k vk S j d fBu gk s rF k k mle s a le > d h 
t:jr H k h v f /kd  gk s] r ks lh[ ku s d h 
d k S u&lh  f of /k mi; q Dr gk sxh  \ 
 

1) f ojke  fo f/k 

2) iw . kZ fo f/k 

3) v f ojke  fo f/k 

4) iz kl a fxd  f of /k 

  
7. When the lesson to be learned by 

a child is long and difficult and 

requires a lot of understanding, 

then which method of learning will 

be appropriate ? 

1) Spaced method 

2) Whole method 

3) Massed method 

4) Incidental method 

8. v f/ kxe  fu; ks ZX ; cPp ksa d s f y, d kS u&l k 
f'k {k. k lw =  y kH k iz n u ghau ghau ghau gha   gks xk \ 
 

1) l jy  l s t fV y 

2) v e w rZ ls ew r Z 

3) iz R;{k ls v iz R ;{k  

4) K kr l s v K kr 

  
8. Which teaching maxim is not 

beneficial for the learning 

disabled children ? 

1) Simple to complex 

2) Abstract to concrete 

3) Direct to indirect 

4) Known to unknown 

9. fu Eu fyf [k r es a l s d k Su&lk  fo d kl  d k  , d  
fl ) ka r u gh au gh au gh au gh a   gS \ 

1) f od k l v k uq o a f'kd rk ,o a i;k Z oj. k d k  
m Rikn gSA  

2) f od k lk Red  iS Vu Z iw o kZu q es ; gks r k gSA 
 

3) f od k l jS f [k d  iF k d k vuql j. k  d jrk  
gSA 

4) f od k l lk ek U; ls fo f'k " V d h v ks j 
c <+ r k gSA 

  
9. Which of the following is not a 

principle of development ? 

1) Development is the product of 

heredity and environment. 

2) Developmental pattern is 

predictable. 

3) Development follows linear 

path. 

4) Development proceeds from 

general to specific. 
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10. fdl euksoSKkfud ds vuqlkj cPpksa ds 
laKkukRed fodkl esa lkekftd ,oa lka LÑfrd 
dkjdksa dh Hkwfedk egÙoiw.kZ gks rh gS \ 
 

1) o kW ; xk s V~Ld h  

2) f i; kts 

3) c z w uj  

4) gy 

  
10. According to which psychologist, 

the role of social and cultural factors 

are important in the cognitive 

development of children ? 

1) Vygotsky  

2) Piaget 

3) Bruner  

4) Hull 

11. fu Eu fyf [k r e sa ls d kS u &lh f d 'kk s jk oLF k k es a 
lk ek ftd  fod kl  dh ,d lke kU; fo'ks " krk 

u gh au gh au gh au gh a  gS \ 

1) e kr k&firk  d s lk F k lk ea t L; iw . kZ   
l a ca/k  

2) u ;k  l ke kft d  l ew gu 

3) igpku  d h [k ks t 

4) o hj&iw t k  

  
11. Which of the following is not a 

common characteristic of social 

development in adolescence ? 

1) Harmonious relationship with 

parents 

2) New social grouping 

3) Search for identity 

4) Hero-worship 

12. d k s g~y cxZ d s uS f rd  fo dk l f l) ka r d h 
d k S u&lh  v o LF kk ,¡ ik jEif jd  u S frd r k ds 
Lr j ls la c a f/k r u ghau ghau ghau gha   gS a \ 

(a) O ;fDr ok n , oa fo fu e; 

(b) v PN s vUr o SZ ; fDr d  l a ca/k 

(c) l kek ftd  O ;o LF kk  c uk , j[k uk  

(d) l kek ftd  v uq c a/k v kS j o S ;fDr d  
v f /kd k j 

l ghl ghl ghl gh  dw V d k p; u d hf t, %  

d w V % d w V % d w V % d w V %     
1) (a) ,o a (b) 2) (b) , o a (c) 

3) (a) ,o a (d) 4) (c) ,o a (d) 

  
12. Which stages of Kohlberg's Moral 

Development theory are not related 

to level of conventional morality ? 

(a) Individualism and exchange 

(b) Good interpersonal relations 

(c) Maintaining the social order 

(d) Social contracts and individual 

rights 

Choose the correct code : 

Code :  

1) (a) & (b) 2) (b) & (c) 

3) (a) & (d) 4) (c) & (d) 
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13. v o/kk u , o a f pa ru  t S lh ek ufl d  iz fØ ;k v ksa 
d s }k jk lh[ ku k d gykr k gS %  
 

1) v u q d j.k kRed  lh [k uk 

2) xke d  lh[ ku k 

3) l a Kku kR ed  lh [k uk 

4) H k ko kRe d  lh[ ku k 

  
13. Learning through mental 

processes like attention and 

reflection is called : 

1) Imitative learning 

2) Motor learning 

3) Cognitive learning 

4) Affective learning 

14. lk ek ftd  v f /kxe d s lUnH kZ e s a d kSu&l h 
f'k {k. k&v f/ kxe j. ku hfr fo | k fF kZ ; ks a d s fy, 
lo kZ f /kd  m i; ks xh gS \ 

1) {k s = H kz e .k 

2) H k k"k .k  

3) iz ;k s x 

4) e ku fld  m }syu 

  
14. Which teaching learning strategy is 

most useful for students in context 

of social learning ? 

1) Field trip 

2) Lecture 

3) Experiment 

4) Brain storming 

15. iS oy kW o d s v uq c a/ku  fl ) kar e s a Lo kH kk fod 
, oa Ñ f=e  m íh id k s a d s e/; v u q ca/k u d ks 
d k S u&lk  d kjd  /ku kRed  :i ls izH kkf or  

u gh au gh au gh au gh a  d jrk  gS \ 

1) m íh id ks a d s iz Lr q rh d j. k d k m i; q Dr  
l e; 

2) m íh id ks a     d h     iq ujko ` fÙ k 

3) f u; a f= r ok rk oj. k 

4) iz s jd  d h d e h 

  

15. In Pavlov's Conditioning theory, 

which factor does not positively 

affect the conditioning between 

natural and artificial stimuli ? 

1) Appropriate timing of stimuli 

presentation 

2) Repetition of stimuli 

3) Controlled environment 

4) Lack of motive 
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16. fu Eu fyf [k r e sa ls d kSu &lk d k jd  f'k{k . k 
v f/ kxe  iz fØ ; k d k s izH k kfo r u ghau ghau ghau gha   d jrk   
gS \ 

1) f 'k{kd  d k  'k kjhf jd  :i 

2) f 'k{kd  d k  e ku fld  Lo kLF ; 

3) f 'k{kd  d k  f o" k; oLr q K ku 

4) f 'k{kd  d k  l a iz s " k. k d kS'k y 

  

16. Which of the following factors does 

not affect the teaching learning 

process ? 

1) Physical appearance of teacher 

2) Mental health of teacher 

3) Content knowledge of teacher 

4) Communication skills of teacher 

17. fu Eu fyf [k r e s a ls d kS u &lk d k jd 
i;k Z oj. kh ; d kjd k s a d s vU rxZ r cPp ks a ds 
fo d k l d ks izHk kf or u g hau g hau g hau g ha  d jr k \ 

1) iks " k. k 

2) xH kk Z oLF k k d s nkS jku e k¡ d k  ekufl d 
r uk o 

3) nq ?k Z Vu k, ¡ 

4) v Ur%òk oh  xz a fF k ;k¡ 

  

17. Which of the following factor does 

not influence the development of 

child under environmental factors ? 

1) Nutrition 

2) Mental stress of the mother 

during pregnancy 

3) Accidents 

4) Endocrine glands 

18. ^mi;ks x dk fu;e* ,oa ^vuqi;ks x dk fu;e* 
FkkWuZMkbd ds vf/kxe fl)kar ds vuq lkj 
fdl lh[kus ds fu;e ls la caf/kr gS \ 
 

1) r Rijrk d k  f u; e 

2) v H ; kl d k  f u; e 

3) izH kk o d k  f u; e 

4) c gq iz fr fØ ; k d k f u; e 

  

18. 'Law of use' and 'Law of disuse' is 

related with which law of learning 

according to Thorndike's learning 

theory ?  

1) Law of readiness 

2) Law of exercise 

3) Law of effect 

4) Law of multiple response 



  [ 9 / A ] 

[ Level-2 / 1211 ]  P. T. O. 

19. fu Eu fyf [k r es a l s d kS u &lk ;q Xe  v f Hk izs j. kk 
d s fl ) ka rk s a , o a m ud s iz fr ik nd ks a ds la ca/k  es a 
lgh u gh au gh au gh au gh a   gS \ 

v fH k iz s j. kkR ed  fl ) ka rv fH k iz s j. kkR ed  fl ) ka rv fH k iz s j. kkR ed  fl ) ka rv fH k iz s j. kkR ed  fl ) ka r     iz f r ikndiz f r ikndiz f r ikndiz f r iknd     

1) ew y  iz o ` fÙ k fl ) ka r 

2) v ko';d rk ink uq Ø e 
fl ) ka r 

3) iz .k ks n fl) k a r 

4) m iyf C/k  v f Hk iz sj. k k 
fl ) ka r 

 , V fd a lu 

 e S lyk s 
 

 o q MoF kZ 

 e S Dyhy Sa M 

 

  

19. Which of the following pair is not 

correct regarding motivational 

theories and their proponents ? 

Motivational Theories Proponent 

1) Instinct theory 

2) Need Hierarchical 

theory 

3) Drive theory 

4) Achievement 

Motivation theory 

Atkinson 

Maslow 

 

Woodworth 

Mc'Clelland 

 

20. le ko s'kh f 'k {kk  l s r kRi ; Z gS % 
1) l kek ftd  :i l s o a fpr c Ppk sa ds fy, 

f 'k{kk  
2) f nO ;k a x cPp ks a ds f y, f 'k{k k 
3) l kek U; , oa fnO; ka x c P pks a d s fy, 

f 'k{kk  
4) l H kh c Pp ks a d s fy, f'k{k k 

  
20. Inclusive Education means : 

1) Education for socially deprived 

children 

2) Education for disabled children 

3) Education for normal and 

disabled children 

4) Education for all children 

21. fu Eu fyf [k r e sa ls d kS u &l k izH kk oh  v f/k xe 
d k  , d  fl )ka r u gh au gh au gh au gh a   gS \ 
1) v f H kiz s j. k k 
2) o S ;f Dr d  igq ¡ p 
3) f uf "Ø ; m if LF kf r 
4) iz fr iqf "V  

  
21. Which of the following is not a 

principle of effective learning ? 

1) Motivation 

2) Individual approach 

3) Passive attendance 

4) Feedback 

22. xS us d s v u q lkj] , d  f 'k{kd  }k jk f o| kf F kZ ; ka s 
d k s fd l m Ppre  Lr j d s v f /kxe rd  ys 
tk us d k iz ;k l d juk  p kfg, \ 
1) l a iz R; ; v f /kxe 
2) l eL; k lek /kk u v f/k xe  
3) f u; e v f/k xe  
4) f oH k s nu  v f /kxe 

  
22. According to Gagne, to what 

highest level of learning should a 

teacher strive to take students ? 

1) Concept learning 

2) Problem solving learning 

3) Rule learning 

4) Discrimination learning 
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23. LV uZ c xZ d s f= ra = h; fl) k a r es a c q f)  ds  
fd u rh u igy qv ks a ij cy  f n; k x;k gS \  
 
(a) ? kV d h;  
(b) v u qH ko tU; 
(c) l a fØ ; kRe d  
(d) l a nH k kZ Re d 

l ghl ghl ghl gh  dw V d k p; u d hf t, %  
d w V % d w V % d w V % d w V %     
1) (a), (b) , o a (c) 
2) (b), (c) , o a (d) 
3) (a), (b) , o a (d) 
4) (a), (c) , o a (d) 

  
23. Which three aspects of 

intelligence are emphasized in the 

triarchic theory of Sternberg ? 

(a) Componential  

(b) Experiential 
(c) Operational      

(d) Contextual 
Choose the correct code : 

Code :  

1) (a), (b) & (c) 
2) (b), (c) & (d) 
3) (a), (b) & (d) 
4) (a), (c) & (d) 

24. /k heh  xfr d s v f/k xe d rkZ d s fy, d kS u&l k 
'kS f {kd  gLr{k s i m i; q Dr u g hau g hau g hau g ha  gS \ 
1) R oj. k 
2) m ip kjkR ed  f'k {k. k 
3) v H ; kl d k ;Z 
4) l gd k jh f'k{k . k fo f/k  

  
24. Which educational intervention is 

not suitable for slow learners ? 

1) Acceleration 

2) Remedial teaching 

3) Drill work 

4) Cooperative teaching method 

25. fd 'kks jko LF kk  esa Lo hÑ r l ke kft d  O;o gkj 
iS Vu Z d s f y, l ghl ghl ghl gh   d w V d k p; u d hf t, % 
 
(a) u s r` R o dq'ky rk  
(b) ijku qHk w fr 
(c) v ga&d s fUnz r rk 
(d) :f <+ o kf nr k 

d w V %d w V %d w V %d w V %     
1) (a) ,o a (b)  

2) (b) , o a (d) 
3) (a), (b) , oa (c)  
4) (a), (c) , o a (d) 

  
25. Choose the correct code for the 

approved social behaviour pattern 

in adolescence : 

(a) Leadership skills 
(b) Empathy 
(c) Ego-centrism 
(d) Stereotyping 
Codes : 

1) (a) & (b)    

2) (b) & (d) 
3) (a), (b) & (c)  
4) (a), (c) & (d) 
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26. lr r~ , o a O;k id  ew Y; ka du  d k l ghl ghl ghl gh  vF kZ   
gS %  

(a) y xk rkj ijh {kk ,¡ ys u k 

(b) m i; q Dr v a r jk y d s c kn fu jU rj 
ijh{kk ,¡ ys u k 

(c) 'k S f{kd  rF k k l g& 'kS f {kd  nk s uks a i{k ks a d k 
e w Y;k a du d juk 

(d) d s o y 'kS f {kd  miyf C/k  ekiuk  
 

l ghl ghl ghl gh  dw V d k p; u d hf t, %  

d w V % d w V % d w V % d w V %     

1) (b) , o a (d) 

2) (b) , o a (c) 

3) (a), (b) , o a (c) 

4) (b), (c) , o a (d) 

  
26. The true meaning of continuous 

and comprehensive evaluation is : 

(a) Taking frequent tests 

(b) Taking continuous tests at 

appropriate intervals 

(c) To evaluate scholastic and co-

scholastic both aspects 

(d) Measuring only educational 

achievements 

Choose the correct code : 

Code :  

1) (b) & (d) 

2) (b) & (c) 

3) (a), (b) & (c) 

4) (b), (c) & (d) 

27. o g f 'k {kk tk s ^ d jd s lh [k us*  d k s c <+ k ok  ns rh 
gS v k Sj lh[ ku s d s fy , fo| k fF kZ ; ks a d h muds 
o kr ko j. k  d s lk F k v a r%fØ ;k  lq fu f'pr 
d jr h gS]  o g d gyk rh  gS % 

1) f of 'k"V f 'k {kk  

2) iz xfr'k hy f'k {kk  

3) , d hÑ r f'k {kk 

4) l eko s'kh  f 'k{kk  

  

27. The education which promotes 

'learning by doing' and ensures the 

student's interaction with their 

environment to learn, that is known as : 

1) Special education 

2) Progressive education 

3) Integrated education 

4) Inclusive education 
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28. n` f"V ck f/k r f o| kfF kZ ;k s a ds fy , d kS u&l h 
f'k {k. k lgk; d  l kexz h mi; ks xh u ghau ghau ghau gha     
gks xh \  

1) c z s y lke xzh 

2) c ks yr h fd rk cs a 

3) f Q Ye fLV ª Il 

4) mH kjs gq , eku fp = 

  
28. Which teaching support material is 

not useful for visually impaired 

students ? 

1) Braille materials 

2) Talking books 

3) Film strips 

4) Embossed map 

29. v f/ kxe  d ks izH k kfo r d jus o kys fu Eufyf[ kr 
d k jd ksa ds lghlghlghlgh  dw V d k  p ;u  d hft , % 
 

(a) v f H kiz s j. k k  

(b) v f H k{ke rk 

(c) v f H k#f p  

(d) v o/kk u 

d w V % d w V % d w V % d w V %     
1) (c) , o a (d) 

2) (a), (b) , oa (d) 

3) (a) , oa (c) 

4) (a), (b), (c) , oa (d) 

  
29. Choose the correct code of the 

following factors, which affects 

learning : 

(a) Motivation  

(b) Aptitude 

(c) Interest  

(d) Attention 

Code : 

1) (c) & (d) 

2) (a), (b) & (d) 

3) (a) & (c) 

4) (a), (b), (c) & (d) 

30. , d  vf /kxe d fBu kbZ t ks cPps ds fy, o. kkZ s a 
v kS j 'kCnks a es a v a rj d ju s es a leL; k mR iUu  
d jr h gS % 

1) f MLI ykf LVf l;k  

2) f MLys f Dl;k  

3) f MLxz kfQ ;k  

4) f MLd S yd q fy ;k 

  
30. A learning difficulty that create 

problem for a child to distinguish 

letters and words is : 

1) Dysplasticia 

2) Dyslexia 

3) Dysgraphia 

4) Dyscalculia 
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HkkxHkkxHkkxHkkx – II / PART – II 

Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½ / LANGUAGES (HINDI & ENGLISH) 

fgUnhfgUnhfgUnhfgUnh (HINDI) 

funsZ'k %funsZ'k %funsZ'k %funsZ'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfprlcls mfprlcls mfprlcls mfpr fodYi pqfu,A 

31. foykse 'kCn ds laca/k esa dkSu&lk ;qXe 
vlaxrvlaxrvlaxrvlaxr  gS \ 
1) ?ke.Mh & fouhr 
2) fpjk;q & nh?kkZ;q 
3) rk#.; & ok/kZD; 
4) rstLoh & fuLrst 

32. rRiq#"k lekl dk dkSu&lk leLrin vius 
;qXe ls lgh lqesfyr ughaughaughaugha  gS \ 
1) xq#nf{k.kk & laca/k rRiq#"k 
2) ns'kkVu & vf/kdj.k rRiq#"k 
3) js[kkafdr & dj.k rRiq#"k 
4) ns'kfuokZflr & viknku rRiq#"k 

33. fuEu esa ls dkSu&lk laf/k 'kCn vius ;qXe 
ls lqesfyr ughaughaughaugha  gS \ 
1) vtar & O;atu laf/k 

2) o;kso`) & folxZ laf/k 

3) egkSnk;Z & o`f) Loj laf/k 

4) rstksiqat & xq.k Loj laf/k 

34. ^x*] ^y* rFkk ^c* mDr o.kksZa dk Øe'k% 
mPpkj.k LFkku gS % 

1) rkyq] d.B] vks"B 

2) nUr] d.B] rkyq 

3) d.B] nUr] vks"B 

4) vks"B] d.B] rkyq 

35. fdl fodYi dk okD; iwoZdkfyd fØ;k dk 
mnkgj.k ughaughaughaugha  gS \ 
1) jke [ksydj pyk x;kA 
2) rqEgsa ,slk djuk 'kksHkk ugha nsrk gSA 
3) lhrk [kkuk cukdj t;iqj tk,xhA 
4) v/;kid mnkgj.k nsdj Nk=ksa dks 

i<+krs gSaA 

36. ^uhe gdhe [k+rjs tku* mDr yksdksfDr dk 
lghlghlghlgh  vFkZ gS % 
1) igys LokFkZ ckn esa ijekFkZ djukA 
2) vYiKku [k+rjukd gksrk gSA 
3) nks"kh ds lkFk funksZ"k dks lt+k feyukA 
4) vR;Ur /khjs dke pyukA 

37. okD;ka'k ds fy, ,dy 'kCn ds laca/k esa 
dkSu&lk ;qXe vlaxrvlaxrvlaxrvlaxr  gS \ 
1) ftls ogu djuk dfBu gks & nqfoZHkkO; 
2) ftls fdlh us u lw¡?kk gks & vuk?kzkr 
3) dksbZ dke djus dh bPNk & fpdh"kkZ 
4) fot; izkfIr dh rhoz bPNk & fothfx"kk 

38. fdl fodYi ds 'kCnksa esa okrZfud v'kqf) 
ughaughaughaugha  gS \ 
1) lq/khtu] 'krkCnh 

2) lk/kwokn] lqjljh 

3) 'kwHks"kh] Hkk;kZifr 

4) pUnzeksfy] iq=s"k.kk 
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39. fdl Øekad esa ^dknacjh&dknafcuh* 
'kCn&;qXe dk Øe'k% lghlghlghlgh vFkZ gS \ 
1) 'kjkc] ?kVk 
2) dq'ky] lsod 
3) fouhr] cqjkbZ 
4) dq'ky] ifo= 

40. fuEu esa ls dkSu&lk 'kCn ^/kuq"k* dk 
i;kZ;okph ughaughaughaugha  gS \ 
1) pki 2) dkeqZd 
3) 'kjklu 4) dklkj 

41. fo'ks"k.k ds laca/k esa dkSu&lk dFku vlaxrvlaxrvlaxrvlaxr 
gS \ 
1) ftl fodkjh 'kCn ls laKk dh O;kfIr 

e;kZfnr gksrh gS] mls fo'ks"k.k dgrs gSaA 
2) ^Hkyk] nkuh] nq"V* mDr 'kCn] 

xq.kokpd fo'ks"k.k ds mnkgj.k gSaA 
3) ^d{kk esa lkB Nk= i<+rs gSa* & 

la[;kokpd fo'ks"k.k dk mnkgj.k gSA 
4) ladsrokpd fo'ks"k.k esa fdlh oLrq dh 

uki ;k rkSy dk cks/k gksrk gSA 

42. laKk ds laca/k esa dkSu&lk dFku laxr ughaughaughaugha  
gS \ 
1) O;fDrokpd laKkvksa dk iz;ksx lnSo 

¼vknjkFkZd ds vfrfjDr½ ,dopu esa 
gksrk gSA 

2) ns'k] R;ksgkj] unh mDr O;fDrokpd 
laKk ds mnkgj.k gSaA 

3) ^nzO;okpd* rFkk ^lewgokpd*] 
tkfrokpd laKk ds gh Hksn ekus tkrs 
gSaA 

4) ^fo}Ùkk*] ^ikafMR;* mDr ;kSfxd 
Hkkookpd laKk ds mnkgj.k gSaA 

43. loZuke ds laca/k esa dkSu&lk ;qXe laxr 
ughaughaughaugha  gS \ 

1) eSaus vkt O;kdj.k i<+k & iq#"kokpd  
loZuke 

2) dejs esa dksbZ g¡l jgk gS &  
vfu'p;okpd loZuke 

3) blh us esjh ftanxh cpkbZ Fkh &  
iz'uokpd loZuke 

4) og Lo;a dks lq/kkj jgk gS &  
futokpd loZuke 

44. fuEu esa ls dkSu&lk 'kCn ^viR;okpd 
rf)r izR;;* ls fufeZr ughaughaughaugha  gS \ 
1) oSurs;  

2) dkSjo 

3) oklqnso  

4) oS/kO; 

45. milxZ dh n`f"V ls fdl fodYi dk 
'kCn&;qXe vlaxrvlaxrvlaxrvlaxr  gS \ 
1) fuj~ & fujkdj.k] fujijk/k 

2) vuq & vuwfnr] vUoh{k.k 

3) ijk & ijkFkZ] ijkfJr 

4) lq & lqnwj] lqÑr 
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vaxzsthvaxzsthvaxzsthvaxzsth / ENGLISH 

Direction : Answer the following questions by selecting the most appropriate option.

46. Choose the correct option that 

gives the correct passive voice of 

the given sentence : 

Have they done the work ? 

1) Have the work been done ? 

2) Has the work been done ? 

3) Had the work been done ? 

4) Will the work be done ? 

47. Choose the option that gives the 

correct meaning of the phrasal 

verb : 

Turn out 

1) to evict someone 

2) to kill someone 

3) to ridicule someone 

4) to give legal notice to someone 

48. Fill in the blank with the most 

appropriate modal auxiliary : 

Your mother is seriously ill. You 

........... leave for home at once. 

(obligation) 

1) needs 2) might 

3) could 4) must 

49. Choose the option that gives the 

correct meaning of the given 

phrasal verb : 

Send for 

1) start on a journey 

2) reach to a decision 

3) call someone in 

4) improve 

50. Change the narration to Reported 

speech and choose the right option : 

I said to him, "Do you know when 

she will go home ?" 

1) I told him if he knew when she 

will go home ? 

2) I said to him that did he knew 

when she would go home. 

3) I asked him if he knew when 

she would go home. 

4) I said to him that did he know 

when will she go home ? 

51. Choose the part of sentence which 

is incorrect : 

Has Sachin / not breaked / the 

      (A)    (B) 

record held / by Bradman who 

   (C)            (D) 

made 10,000 runs in his career ? 

1) A 2) B 

3) C 4) D 

52. Choose the correct option for the 

given one word : 

Sinecure 

1) one who lives by himself 

2) an office with no work but high 

pay 

3) surgery without anesthesia 

4) cure by naturopathy 
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53. Fill in the blank with the most 

appropriate meaning of the 

underlined idiom : 

Rakesh had to deal with all his 

problems by himself, because he 

didn't want to depend on his fair 

weather friends. 

1) Friends who come from rich 

family. 

2) Friends who are loyal only 

during a time of success. 

3) Friends with whom one lived in 

one's college time. 

4) Friends who no longer live 

with you. 

54. Choose the correct tense form to 

fill in the blank : 

She jumped off the train while it 

.............. . 

1) moved  

2) had moved 

3) has moved  

4) was moving 

55. Choose the correct tense form to 

fill in the blank : 

The Headmaster ............ to meet 

you. 

1) want 

2) wants 

3) is wanting 

4) was wanting 

56. Choose the correct option to fill in 

the blank : 

........... had the police reached 

than the thieves fled. 

1) As soon as 

2) No sooner 

3) Scarcely 

4) As well 

57. Choose the correct preposition to 

fill in the blank : 

He told all .......... the incident. 

1) between 2) among 

3) beside 4) about 

58. Choose the most appropriate 

preposition to fill in the blank : 

I am going home the day ........... 

tomorrow. 

1) in 2) on 

3) after 4) at 

59. Choose the most appropriate 

preposition to fill in the blank : 

Mohan gazed ............ the sky in 

the hope of rain. 

1) at 2) unto 

3) besides 4) into 

60. Choose the option that gives the 

correct meaning of the given 

phrasal verb : 

Give in 

1) distribute 2) deposit 

3) donate 4) surrender 
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HkkxHkkxHkkxHkkx – III / PART – III 

lkekU; v/;;ulkekU; v/;;ulkekU; v/;;ulkekU; v/;;u / GENERAL STUDIES 

ek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKku / Quantitative Aptitude, Reasoning 

Ability and G. K. & Awareness 

funsZ'kfunsZ'kfunsZ'kfunsZ'k    %%%% fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lclslclslclslcls mfpr mfpr mfpr mfpr fodYi pqfu,A 
Direction :  Answer the following questions by selecting the most appropriate option. 

61. A, iwoZ fn'kk ls if'pe esa 8 fdeh pyrk 
gS rFkk nk;sa eqM+dj 2 fdeh pyrk gS iqu% 
nk;sa eqM+dj 5 fdeh pyrk gS] rks og 
'kq#vkr fcUnq ds lanHkZ esa vc fdl fn'kk 
esa fLFkr gS \ 
1) nf{k.k&if'pe  
2) mÙkj&if'pe 
3) mÙkj&iwoZ  
4) nf{k.k&iwoZ 

  

61. A travels 8 km from East to West and 

turns right and travel 2 km. Now 

again he turn right and travel 5 km. In 

which direction is he now positioned 

with reference to starting point ? 

1) South-West  

2) North-West 

3) North-East  

4) South-East 

62. ;fn fdlh dwV Hkk"kk esa 'PROJECT' dks 
'CEOPRT' rFkk 'PLANE' dks 'ELNP' 

fy[kk tkrk gS] rks 'ORGANISED' dks mlh 
dwV Hkk"kk esa fdl izdkj fy[kk tk,xk \ 
1) ADEGIOSR  

2) ADEGIROS 

3) ADEGOIRS  

4) ADEGIORS 

  

62. If 'PROJECT' is coded as 'CEOPRT' 

and 'PLANE' is coded as 'ELNP' then 

the 'ORGANISED' will be coded     

as : 

1) ADEGIOSR  

2) ADEGIROS 

3) ADEGOIRS  

4) ADEGIORS 

63. yM+dksa dh ,d iafDr esa] A ck;ha rjQ ls 
7osa rFkk B nk;ha rjQ ls 12osa LFkku ij 
gS] ;fn muds LFkkuksa esa ijLij ifjorZu 
fd;k tkrk gS] rks A dk ck;ha rjQ ls 
22ok¡ LFkku gks tkrk gS] rks iafDr esa dqy 
yM+dksa dh la[;k gS % 
1) 27 2) 31 
3) 33 4) 34 

  

63. In a row of boys, A is 7th from the 

left and B is 12th from the right. If 

they interchange their positions A 

becomes 22nd from the left. How 

many total boys are there in a    

row ? 

1) 27 2) 31 
3) 33 4) 34 
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64. ,d ifjokj esa] A, X dk firk gS] B, Y dh 
ekrk gS] rFkk X o Z dh cgu Y gks] rks 
fuEufyf[kr dFkuksa esa ls dkSu&lk dFku 
fuf'pr :i ls lgh ughaughaughaugha  gS \ 

1) B, A dh iRuh gS 

2) B dh ,d iq=h gS 

3) X, A dk iq= gS 

4) Y, Z dh cgu gS 

  

64. In a family, A is the father of X, B is 

the mother of Y. The sister of X and 

Z is Y. Which of the following 

statement is definitely not true ? 

1) B is the wife of A 

2) B has a daughter 

3) X is the son of A 

4) Y is the sister of Z 

65. nh xbZ Üka`[kyk esa xyrxyrxyrxyr la[;k gS % 
 

 0, 3, 9, 12, 36, 39, 42, 120, 360 

1) 12  

2) 39 

3) 42  

4) 360 

  

65. Find the wrong number in the 

given series : 

 0, 3, 9, 12, 36, 39, 42, 120, 360 

1) 12  

2) 39 

3) 42  

4) 360 

66. ;fn A nf{k.k fn'kk esa 8 fdeh tkdj rc 
nkfgus rjQ eqM+dj 6 fdeh pyrk gS rFkk 
iqu% mÙkj&iwoZ fn'kk esa eqM+dj 10 fdeh 
pyrk gS] rks A izkjfEHkd fcUnq ls fdruh 
nwjh ij gS \ 

1) 0 fdeh  

2) 8 fdeh 

3) 10 fdeh  

4) 12 fdeh 

  

66. If A walks 8 km South then turn 

right and walks 6 km and again 

turns North-East and walks 10 km. 

How far is A from the starting   

point ? 

1) 0 km  

2) 8 km 

3) 10 km  

4) 12 km 
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67. ;fn 10 O;fDr fdlh dk;Z dk 








5

2  ok¡ 

Hkkx djus esa 8 fnu yxkrs gSa] rks mlh dk;Z 
ds 'ks"k dk;Z dks 12 fnuksa esa iw.kZ djus ds 
fy, fdrus O;fDr;ksa dh vko';drk gksxh \ 

1) 6 2) 8 

3) 10 4) 12 

  

67. If 10 persons can complete 








5

2 th

 

of a work in 8 days, then how many 

persons are required to complete 

the remaining work in 12 days ? 
 

1) 6 2) 8 

3) 10 4) 12 

68. ,d yEc fizTe dk vk/kkj ,d f=Hkqt gS] 
ftldk ifjeki 32 lseh gS vkSj f=Hkqt dh 
var% f=T;k 6 lseh gS] ;fn fizTe dk vk;ru 
576 ?ku lseh gS] rks bldh Å¡pkbZ gS % 
 

1) 4 lseh 2) 5 lseh 

3) 6 lseh 4) 8 lseh 

  

68. The base of a right prism is a 

triangle whose perimeter is 32 cm 

and the inradius of the triangle is    

6 cm. If the volume of the prism is 

576 cc, then its height is : 

1) 4 cm 2) 5 cm 

3) 6 cm 4) 8 cm 

69. ;fn ,d fu;fer cgqHkqt esa fod.kksaZ dh 
la[;k 27 gks] rks bldh Hkqtkvksa dh   
la[;k gksxh % 

1) 6 2) 9 

3) 10 4) 12 

  

69. If the number of diagonals of a 

regular polygon is 27, then the 

number of sides is : 

1) 6 2) 9 

3) 10 4) 12 

70. nks feJ /kkrqvkas A rFkk B esa] rk¡ck rFkk 
tLrk dk vuqikr Øe'k% 5 : 2 rFkk 3 : 4 
gS] bu feJ /kkrqvksa esa ls A dk 7 fdxzk 
,oa B dk 21 fdxzk feykdj ,d ubZ feJ 
/kkrq cukbZ tkrh gS] bl ubZ feJ /kkrq esa 
rk¡cs rFkk tLrk dk vuqikr D;k gS \ 
 

1) 1 : 2 2) 2 : 1 

3) 2 : 3 4) 1 : 1 

  

70. In two alloys A and B, the ratio of 

copper and zinc is 5 : 2 and 3 : 4 

respectively. 7 kg of alloy A and 21 

kg of the alloy B are mixed 

together to form a new alloy. What 

will be the ratio of copper and zinc 

in the new alloy ? 

1) 1 : 2 2) 2 : 1 

3) 2 : 3 4) 1 : 1 
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71. ;fn 7 cosec θ – 3 cot θ = 7 tgk¡ θ 
izFke prqFkkZa'k esa gks] rks 7 cot θ – 3 

cosec θ dk eku gS % 

1) 3 2) 5 

3) 3/7 4) 5/7 

  

71. If 7 cosec θ – 3 cot θ = 7 where θ is 

in first quadrant, then the value of       

7 cot θ – 3 cosec θ is equal to : 

1) 3 2) 5 

3) 3/7 4) 5/7 

72. ;fn ,d o`Ùk esa] ,d leckgq f=Hkqt ABC 
varfuZfgr fd;k tkrk gS] f=Hkqt ds 'kh"kksZa ls 
[khaph xbZ Li'kZ js[kkvksa ls cuus okyk 
f=Hkqt gksxk % 

1) fo"keckgq f=Hkqt 

2) lef}ckgq f=Hkqt 

3) leckgq f=Hkqt 

4) ledks.kh; f=Hkqt 

  

72. If an equilateral triangle ABC be 

inscribed in a circle, then the 

tangents at their vertices will form 

another triangle is : 

1) Scalene triangle 

2) Isosceles triangle 

3) Equilateral triangle 

4) Right angled triangle 

73. ,d nqdkunkj] ,d oLrq 15% ykHk ij 
csprk gS] vxj mlus mls 18 #i;s vf/kd 
esa cspk gksrk] rks ykHk 18% gks tkrkA ml 
oLrq dk Ø; ewY; ¼#i;s esa½ gS % 

1) 600  

2) 540 

3) 350  

4) 380 

  

73. A shopkeeper sells an article at 15% 

gain. Had he sold it for Rs. 18 more; 

he would have gained 18%. The 

cost price (in Rs.) of the article is : 

1) 600  

2) 540 

3) 350  

4) 380 

74. fuEufyf[kr Js.kh dk yqIr in gS % 
 

 DBC, KIJ, QOP, __?__, ZXY 

1) VUW 2) USV 

3) UTV 4) VTU 

  

74. The missing term of the following 

series is : 

 DBC, KIJ, QOP, __?__, ZXY 

1) VUW 2) USV 

3) UTV 4) VTU 
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75. nks /kukRed la[;kvksa dk vUrj 3 gS] ;fn 
muds oxksZa dk ;ksx 369 gks] rks mu 
la[;kvksa dk ;ksx gS % 
 

1) 25 2) 27 

3) 31 4) 33 

  

75. The difference between two 

positive numbers is 3. If the sum of 

their squares is 369, then sum of 

the numbers is : 

1) 25 2) 27 

3) 31 4) 33 

76. foHkktu ds ,d ;ksxQy esa foHkktd] 
HkkxQy dk 12 xquk rFkk 'ks"kQy dk 5 
xquk gS] rks ;fn mlesa 'ks"kQy 36 gks] rks 
HkkT; gS % 

1) 2706 2) 2736 

3) 2796 4) 2766 

  

76. In a division sum, the divisor is 12 

times the quotient and 5 times the 

remainder. If the remainder is 36, 

then the dividend is : 

1) 2706 2) 2736 

3) 2796 4) 2766 

77. ;fn A ^foHkktu dks*] B ^;ksx dks*] C 
^?kVkus dks* rFkk D ^xq.ku dks* iznf'kZr 
djrs gSa] rks 20 C 12 B 8 A 2 D 6 
cjkcj gSa % 
 

1) 16 2) 18 

3) 32 4) 36 

  

77. If A denotes 'divided by', B denotes 

'added to', C denotes 'subtracted 

from' and D denotes 'multiplied 

by', then 20 C 12 B 8 A 2 D 6 is 

equal to : 

1) 16 2) 18 

3) 32 4) 36 

78. ,d O;fDr 12 fdyksehVj dh nwjh 3 fdeh 
izfr ?k.Vk] 18 fdyksehVj dh nwjh 9 fdeh 
izfr ?k.Vk rFkk 24 fdyksehVj dh nwjh 4 
fdeh izfr ?k.Vk ls r; djrk gS] rks lEiw.kZ 
nwjh r; djus dh vkSlr pky gS % 

1) 4 fdeh@?k.Vk   

2) 4.2 fdeh@?k.Vk 

3) 4.4 fdeh@?k.Vk   

4) 4.5 fdeh@?k.Vk 

  

78. A person covers 12 km at 3 km/hr, 

18 km at 9 km/hr and 24 km at 4 

km/hr. The average speed in 

covering the whole distance is : 

 

1) 4 km/hr  

2) 4.2 km/hr 

3) 4.4 km/hr  

4) 4.5 km/hr 
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79. fn, x, fodYiksa esa ls fo"ke dks Kkr 
dhft, % 
1) lkjaxh 2) oh.kk 
3) fxVkj 4) ckalqjh 

  

79. Find the odd word from the given 

alternatives : 

1) Violin 2) Harp 

3) Guitar 4) Flute 

80. ;fn 16 – 4 = 2, 9 – 3 = 2, 81 – 3 = 4 
gks] rks 64 – 4 dk eku gS % 
1) 3 2) 2 

3) 4 4) 6 

  

80. If 16 – 4 = 2, 9 – 3 = 2, 81 – 3 = 4, 

then the value of 64 – 4 is : 

1) 3 2) 2 

3) 4 4) 6 

81. 1857 ds fonzksg ds nkSjku] fuEufyf[kr eas 
ls fdlus jksgrd esa fczfV'k fBdkukas ij 
vkØe.k fd;k \ 
1) rQ ðt+y gqlSu  
2) beke vyh 
3) eksgj flag  
4) gjlq[k jk; 

  

81. During the revolt of 1857, who 

among the following attacked 

British establishments in Rohtak ? 

1) Tafzal Husain  

2) Imam Ali 

3) Mohar Singh  

4) Harsukh Rai 

82. gfj;k.kk dh eksjuh igkfM+;ksa dk lEca/k gS % 
 

1) vjkoyh Ük`a[kyk ls 

2) fganqdq'k Ük`a[kyk ls 

3) fgeky; dh cká Ükà[kyk ls 

4) fgeky; dh vkUrfjd Ük`a[kyk ls 

  

82. The Morni hills of Haryana belongs 

to : 

1) Aravalli range 

2) Hindukush range 

3) Outer range of Himalayas 

4) Inner range of Himalayas 

83. gfj;k.kk eas fx) laj{k.k dsUnz dgk¡ fLFkr 
gS \ 
1) than  
2) fiatkSj 
3) egsUnzx<+  
4) vEckyk 

  

83. In Haryana, where the Vulture 

Conservation Centre is located ? 

1) Jind   

2) Pinjore 

3) Mahendragarh  

4) Ambala 
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84. gfj;k.kk eas fdruh rglhy gSa \ 
 

1) 95  

2) 49 

3) 143  

4) 74 

  

84. How many Tehsils are there in 

Haryana ? 

1) 95  

2) 49 

3) 143  

4) 74 

85. gfj;k.kk ds fdl ftys eas] [ksyks bafM;k 
efgyk rhjankth jSafdax izfr;ksfxrk dk 
vk;kstu fd;k x;k \ 
1) lksuhir  
2) ikuhir 
3) djuky  
4) ;equkuxj 

  

85. In which district of Haryana, the 

Khelo India Women's Archery 

ranking competition was organised ? 

1) Sonipat  

2) Panipat 

3) Karnal  

4) Yamunanagar 

86. ;w0ih0,l0lh0 ds ps;jeSu] tks dkykUrj 
esa gfj;k.kk ds jkT;iky cus gSa % 
 
1) MkW0 ,0 vkj0 fdnobZ 
2) Jh eqt+¶Qj gqlSu cuhZ 
3) Jh ch0 ,u0 pØorhZ 
4) Jh egkchj izlkn 

  

86. The UPSC Chairman, who 

subsequently became the Governor 

of Haryana  : 

1) Dr. A. R. Kidwai 

2) Shri Muzaffar Husain Berney 

3) Shri B. N. Chakravarti 

4) Shri Mahabir Prasad 

87. pkoy dh Qly dks vf/kd ijEijkxr 
Qlyksa ls izfrLFkkfir djus gsrq gfj;k.kk 
ljdkj }kjk pykbZ tk jgh ;kstuk gS % 
 
1) esjh Qly esjk C;kSjk 
2) esjh fojklr 
3) esjk ikuh esjh fojklr 
4) gekjk /ku 

  

87. The Scheme, which is being run by 

the Haryana government to 

replace paddy crop with more 

tradition crops is : 

1) Meri Fasal Mera Byora 

2) Meri Virasat 

3) Mera Pani Meri Virasat 

4) Hamara Dhan 
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88. gfj;k.kk esa us'kuy bfULVV~;wV vkWQ QS'ku 
VsDuksykWth laLFkku dgk¡ fLFkr gS \ 
 

1) ikuhir  

2) vEckyk 

3) iapdqyk  

4) dq#{ks= 

  

88. Where in the Haryana, the National 

Institute of Fashion Technology is 

located ? 

1) Panipat  

2) Ambala 

3) Panchkula  

4) Kurukshetra 

89. gfj;k.kk ds eq[; lwpuk vf/kdkjh dkSu gSa \ 
 

1) Jherh T;ksfr vjksM+k 

2) MkW0 txchj flag 

3) Jh fot; o/kZu 

4) Jherh deynhi Hk.Mkjh 

  

89. Who is the Chief Information 

Officer of Haryana ? 

1) Smt. Jyoti Arora 

2) Dr. Jagbir Singh 

3) Shri Vijay Vardhan 

4) Smt. Kamaldeep Bhandari 

90. gfj;k.kk ds fuEufyf[kr larkas eas ls dkSu 
iwj.k Hkxr ds uke ls yksdfiz; Fks \ 
 

1) ckck eLr ukFk 

2) ckck xksj[k ukFk 

3) ckck pkSjaxh ukFk 

4) ckck iwj.k ukFk 

  

90. Who among the following Sages of 

Haryana was popularly known as 

Puran Bhagat ? 

1) Baba Mast Nath 

2) Baba Gorakh Nath 

3) Baba Chaurangi Nath 

4) Baba Puran Nath 
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HkkxHkkxHkkxHkkx – IV / PART – IV 

foKkufoKkufoKkufoKku/ SCIENCE 

funsZ'k %funsZ'k %funsZ'k %funsZ'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfprlcls mfprlcls mfprlcls mfpr fodYi pqfu,A 
Direction :  Answer the following questions by selecting the most appropriate option. 

91. ;fn /ofu rjax dk vk;ke nqxquk gks tk;s] 
rks /ofu dh izcyrk fdl xq.kd esa c<+ 
tkrh gS \ 
1) 2 2) 4 

3) 8 4) 16 

  

91. If the amplitude of loudness of 

sound becomes twice, then loudness 

increases by a factor of :  

1) 2 2) 4 

3) 8 4) 16 

92. xq#Rokd"kZ.k cy dh ijkl gksrh gS % 

1) 10
–14
 eh0 

2) vuUr 

3) 10
–15
 eh0 

4) 1 eh0 

  

92. Range of the gravitational force is : 

1) 10
–14
 m 

2) Infinite 

3) 10
–15
 m 

4) 1 m 

93. tSoiznhIrh ik;h tkrh gS % 
1) lhysUVªsVk rFkk VhuksQksjk esa 
2) VhuksQksjk rFkk iksjhQsjk esa  
3) iksjhQsjk rFkk lhysUVªsVk esa  
4) lHkh fodYi lgh gSa 

  

93. Bioluminescence occurs in : 

1) Coelenterata and Ctenophora 
2) Ctenophora and Porifera   
3) Porifera and Coelenterata  
4) All options are right  

94. ,d 5 fdxzk nzO;eku fudk; ij ,d cy 
kjiF ˆ6ˆ3ˆ2 ++=  U;wVu] 10 lsd.M 

le; rd dk;Z djrk gS] rc fudk; ds 
osx esa ifjorZu gksxk % 

1) 12 ehVj@lsd.M 

2) 14 ehVj@lsd.M 

3) 24 ehVj@lsd.M 

4) 36 ehVj@lsd.M 

  

94. A force kjiF ˆ6ˆ3ˆ2 ++=  Newton acts 

on a 5 kg object for 10 second, 

then the change in velocity of 

object will be : 

1) 12 m/s 

2) 14 m/s 

3) 24 m/s 

4) 36 m/s 
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95. ykbdsu cgqr vPNs iznw"k.k lwpd gSaA ;s 

fduls cus gq, gSa \ 

1) izk;ksu rFkk 'kSoky 

2) dod rFkk izk;ksu 

3) 'kSokyka'k rFkk dodka'k  

4) izk;ksu rFkk ;qfXyukWbM 

  

95. Lichens are very good pollution 

indicators. They are made up of : 

1) Prions and Algae  

2) Fungi and Prions  

3) Phycobiont and Micobiont  

4) Prions and Euglenoids  

96. mPp izkFkfed Lrj ij foKku dks le>us 

ds fy, fuEufyf[kr esa ls dkSu-lk mi;qDr 

ughaughaughaugha gS \ 

1) oLrqvksa dk izs{k.k rFkk fjdkWMZ djuk 

 

2) xzkQ cukuk  

3) Lo;a djus dk vuqHko 

4) fo"k; dks vewrZu ds }kjk le>uk 

  

96. Which of the following is not 

appropriate to understand science 

at upper primary stage ? 

1) Observing things and 

recordings  

2) Plotting graphs 

3) Hands on experience  

4) Learn the subject through 

abstraction  

97. fxCcu lwaMokyk canj rFkk jkbukslsjl fdl 

vksfj;sUVy izk.kh HkkSxksfyd {ks= ds mi{ks= 

esa ik;s tkrs gSa \ 

 

1) bf.M;u mi{ks= 

2) lhyksfu;u mi{ks= 

3) baMks-pkbuk mi{ks= 

4) baMks-eyk;u mi{ks= 

  

97. Gibbons, proboscis monkeys and 

Rhinoceros found in which of the 

following subregion of oriental 

Zoogeographical region ?  

1) Indian subregion  

2) Ceylonian subregion 

3) Indo-China subregion 

4) Indo-Malayan subregion 
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98. egklkxj esa eq[; mRiknd gSa % 

1) Mkbuks¶ysftysV~l  

2) Mkb,VEl  

3) ;qfXyukWbM~l 

4) IySaDVUl ¼Iyod½ 

  

98. The chief producers in oceans are : 

1) Dinoflagellates  

2) Diatoms  

3) Euglenoids  

4) Planktons  

99. fuEu esa ls dkSu-lk HkkSfrd foKku ikB dk 

vk/kkjHkwr ?kVd gS \ 

1) ikB dk 'kh"kZd 

2) ifjp; 

3) izLrqfr 

4) lHkh fodYi lgh gSa 

  

99. In following which is element of 

physical science lesson ? 

1) Title of lesson 

2) Introduction 

3) Presentation 

4) All options are right   

100. fuEufyf[kr esa ls dkSu-lk 40 g Qsfjd 

lYQsV esa izR;sd rÙo ds eksyksa dh lghlghlghlgh 

la[;k dks iznf'kZr djrk gS \ 

[ijek.oh; nzO;eku Fe = 56 u, S = 32 u, 

O = 16 u ] 

 Fe S O 

1) 2 3 12 

2) 1 1 4 

3) 0.2 0.3 1.2 

4) 0.1 0.1 0.4 
 

  

100. Which of the following represents 

the correct number of moles of 

each element in 40 g of Ferric 

sulphate [Atomic mass Fe = 56 u,   

S = 32 u, O = 16 u] 

 Fe S O 

1) 2 3 12 

2) 1 1 4 

3) 0.2 0.3 1.2 

4) 0.1 0.1 0.4 
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101. vkgkjuky dh nhokj pkj ijrksa dh cuh 

gksrh gSA fuEu esa ls dkSu-lk Øe ckgj ls 

vUnj dh vksj lghlghlghlgh gS \ 

 

1) E;wdkslk → eLD;wysfjl → lcE;wdkslk 

→ lhjkslk 

2) lhjkslk → eLD;wysfjl → lcE;wdkslk 

→ E;wdkslk  

3) lcE;wdkslk → E;wdkslk → eLD;wysfjl 

→ lhjkslk 

4) E;wdkslk → lcE;wdkslk → eLD;wysfjl 

→ lhjkslk 

  

101. The wall of alimentary canal 

possess four layer's. Which of the 

following is the correct sequence 

from outside to inside ? 

1) Mucosa → Muscularis → 

Submucosa → Serosa  

2) Serosa → Muscularis → 

Submucosa → Mucosa 

3) Submucosa → Mucosa → 

Muscularis → Serosa  

4) Mucosa → Submucosa → 

Muscularis → Serosa 

102. ,d izdk'k fdlh ,d fizTe ls viofrZr 

gksrk gSA fizTe dk fopyu dks.k gS % 

1) vkifrr fdj.k rFkk fuxZr fdj.k ds 

e/; dk dks.k 

2) vkifrr fdj.k rFkk viofrZr fdj.k 

ds e/; dk dks.k 

3) viofrZr fdj.k ,oa fuxZr fdj.k ds 

e/; dk dks.k  

4) fizTe dks.k  

  

102. A light is refracted through a 

prism. The angle of deviation is : 

1) The angle between incident 

ray and emergent ray 

2) The angle between incident 

ray and refracted ray 

3) The angle between refracted 

ray and emergent ray 

4) The angle of prism  
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103. fuEu esa ls dkSu-lh dk;Zxr 'kks/k lapkfyr 
djus dh fodkl'khy voLFkk gS \ 
 

1) dk;Zxr ;kstuk fodflr djuk  

2) ;kstuk dk;kZfUor dj vk¡dM+s ,d= 
djuk  

3) izdj.k dh igpku ,oa bldk ifjlheu 
djuk 

4) ifj.kkeksa ij ppkZ ,oa mudk laizs"k.k 
djuk 

  

103. In which of the following is 

developing stage of process of 

action research ? 

1) Developing an action plan 

2) Implementation plan and 

collecting data  

3) Identified and limiting the 

topic  

4) Sharing and communicating 

the results 

104. dkWyedkWyedkWyedkWye - I dk feyku dkWyedkWyedkWyedkWye - II ls dhft, % 
 

    dkWyedkWyedkWyedkWye - I        dkWyedkWyedkWyedkWye - II 

(a) izdk'k jklk;fud 

vi?kVu 

(b) m"eh; vi?kVu 

 

(c) fo|qr vi?kVu 

 

 

 

(d) foLFkkiu vfHkfØ;k 

 (i) 2KClO3(s) → 

2KCl(s) + 3O2(g) 

 (ii) 2Al2O3(m) → 

4Al(s) + 3O2(g) 

(iii) Mg(s) + 

CuSO4(aq) → 

MgSO4(aq)+ 

Cu(s) 

(iv) 2AgBr(s) → 

2Ag(s) + Br2(g) 

lghlghlghlgh fodYi gS % 
1) (a)-(iv), (b)-(i), (c)-(ii), (d)-(iii) 

2) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv) 

3) (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i) 

4) (a)-(iv), (b)-(ii), (c)-(i), (d)-(iii) 

  

104. Match the Column-I with 

Column-II : 

 Column - I Column - II 

(a) Photochemical 

decomposition 

(b) Thermal 

decomposition 

(c) Electrolysis 

 

 

 

(d) Displacement 

reaction 

(i) 2KClO3(s) → 

2KCl(s) + 3O2(g) 

(ii) 2Al2O3(m) → 

4Al(s) + 3O2(g) 

(iii) Mg(s) + 

CuSO4(aq) → 

MgSO4(aq)+ 

Cu(s) 

(iv) 2AgBr(s) → 

2Ag(s) + Br2(g) 

Correct option is : 

1) (a)-(iv), (b)-(i), (c)-(ii), (d)-(iii) 

2) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv) 

3) (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i) 

4) (a)-(iv), (b)-(ii), (c)-(i), (d)-(iii) 
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105. ;fn ,d fudk; fu;r dks.kh; Roj.k ls 

dsoy ,d fn'kk esa xfr dj jgk gks] rc 

fudk; ds }kjk nosa lsd.M esa r; dh xbZ 

nwjh gS %  

[U = izkjafHkd osx  

    a = Roj.k yhft, ] 
1) U + a (1 + n

2
) 

2) U + 
2
a (2n – 1) 

3) U + 
2
a (2n + 1) 

4) U + 
2

a
(2n + 1)

2 

  

105. If an object is moving with constant 

acceleration along one direction 

only, then the distance travelled in 

the nth second is : 

[ Take U = Initial Velocity 

            a = Acceleration ] 

1) U + a (1 + n
2
) 

2) U + 
2
a (2n – 1) 

3) U + 
2
a (2n + 1) 

4) U + 
2

a
(2n + 1)

2 

106. tc ,d bysDVªkWu fdlh pqEcdh; {ks= ls 

gksdj xqtjrk gS] rc % 

1) bldk osx c<+ tkrk gS 

2) bldh ÅtkZ c<+ tkrh gS 

3) osx ,oa ÅtkZ nksuksa c<+ tkrs gSa 

 

4) bldk osx ,oa ÅtkZ fu;r jgrs gSa 

  

106. When an electron is passing 

through magnetic field, then : 

1) Its velocity is increased 

2) Its energy is increased  

3) Both velocity and energy are 

increased  

4) Velocity and energy of electron 

remain constant  



  [ 31 / A ] 

[ Level-2 / 1211 ]  P. T. O. 

107. fuEufyf[kr osu vkjs[k dk lko/kkuhiwoZd 

v/;;u dhft, % 

 

 

 

 

 

fuEufyf[kr esa ls dkSu-ls dksykbMh ra= A, 

B rFkk C dks lghlghlghlgh iznf'kZr djrs gSa \ 
 

 A B C 

1) /kqa/k ¼dqgklk½ QsaVh gqbZ eykbZ /kwy /kq¡vk 

 

2) nw/k ckyksa dh Øhe >kaok iRFkj 

 

3) isUV /kq¡vk ckny 

4) jaxhu dk¡ap frryh ds ia[k eD[ku 
 

  

107. Study the given Venn diagram 

carefully :  

 

 

 

 

 

Which of the following colloidal 

systems correctly represent points 

A, B and C ? 

 A B C 

1) Mist Whipped 

cream 

Dust 

fumes 

2) Milk Hair cream Pumice 

stone 

3) Paints Smoke Cloud 

4) Coloured 

glasses 

Wings of 

butterflies  

Butter 

 

108. lkekU; n`f"V ds o;Ld ds fy, lqLi"V 

n'kZu dh vYire nwjh gksrh gS] yxHkx % 

 

1) 2.5 ehVj 

2) 25 lseh0 

3) 2.5 lseh0 

4) 25 ehVj 

  

108. The minimum distance of distinct 

vision for young adult with normal 

vision is about : 

1) 2.5 m 

2) 25 cm 

3) 2.5 cm 

4) 25 m 

A B 

C 

Solid 

Liquid Gas 

A B 

C 

Bksl 

nzO; xSl 
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109. ,d d.k ds }kjk r; dh xbZ nwjh le; ds 
lkFk fuEu izdkj ifjofrZr gksrh gS % 
nwjh (s) = 1.2 t2 ehVj 
blds fy, le; vUrjky 0 ls 10 lsd.M 
ds e/; vkSlr pky gS % 
1) 6 ehVj@lsd.M 
2) 24 ehVj@lsd.M 
3) 36 ehVj@lsd.M 
4) 12 ehVj@lsd.M 

  

109. The distance (s) travelled by a 

particle varies with time (t) as : 

(s) = 1.2 t2 meter. 

The average speed during time 

interval 0 to 10 second is : 

1) 6 m/s 

2) 24 m/s 

3) 36 m/s 

4) 12 m/s 

110. fuEufyf[kr esa ls dkSu-lh foKku f'k{k.k esa 
lg-'kS{kf.kd xfrfof/k gS \ 
 
1) foKku Dyc 
2) JO;-n`'; lgk;rk 
3) ikB~;-iqLrd 
4) ';keiê 

  

110. Which one of the following is      

co-curricular activity in science 

teaching ? 

1) Science club 

2) Audio-visual aids 

3) Text-book 

4) Blackboard  

111. dkWyedkWyedkWyedkWye - I dk feyku dkWyedkWyedkWyedkWye - II ls dhft, % 
 

    dkWyedkWyedkWyedkWye - I        dkWyedkWyedkWyedkWye - II 
(a) 28 g He 
(b) 0.5 eksy O2 
(c) lkekU; yo.k dk 

v.kqHkkj 
(d) dSfYl;e ds 1.5 

eksy 

(i) 58.5 u 

(ii) 7 eksy 
(iii) 60 g 

 

(iv) 16 g 

lghlghlghlgh fodYi gS % 
1) (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i) 
2) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii) 
3) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv) 
4) (a)-(ii), (b)-(iv), (c)-(iii), (d)-(i) 

  

111. Match the Column-I with 

Column-II : 

 Column - I    Column - II 

(a) 28 g He 

(b) 0.5 mole of O2 

(c) Molecular mass 

of common salt 

(d) 1.5 mole of 

calcium 

(i) 58.5 u 

(ii) 7 mole 

(iii) 60 g 

 

(iv) 16 g 

Correct option is : 
1) (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i) 
2) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii) 
3) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv) 
4) (a)-(ii), (b)-(iv), (c)-(iii), (d)-(i) 
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112. 206 g fi?kys gq, lksfM;e czksekbM dks fo|qr~ 

vi?kVu fd;k tkrk gS] rks lksfM;e dk 

izkIr vf/kdre nzO;eku gksxk % 

[ijek.oh; nzO;eku Na = 23 u, Br = 80 u] 

1) 40 g 

2) 46 g 

3) 52 g 

4) 23 g 

  

112. 206 g of molten sodium bromide is 

electrolysed. The maximum mass 

of sodium obtained will be : 

[Na = 23 u, Br = 80 u] 

1) 40 g 

2) 46 g 

3) 52 g 

4) 23 g 

113. Xykbdksfyfll dh laiw.kZ izfØ;k esa fdUgha nks 

esa pkj QkLQksjhdj.k gksrk gS % 

 

I. 1-3 MkbQkWLQksXykblsfjd vEy → 3- 

QkWLQksXykblsfjd vEy 

II. QkLQksbukWy ikb#fod vEy → 

ikb#fod vEy 

III. 2-QkWLQksXykblsfjd vEy → 

QkLQksbukWy ikb#fod vEy 

IV. 3-QkWLQksXykblsfjd vEy → 2- 

QkWLQksXykblsfjd vEy 

1) dsoy I rFkk II 

2) dsoy II rFkk III 

3) dsoy III rFkk IV 

4) dsoy I rFkk IV 

  

113. In the entire process of glycolysis 

4 phosphorylation occurs in two of 

the following steps :  

I. 1-3 Diphosphoglyceric acid → 

3-phosphoglyceric acid 

II. Phosphoenol Pyruvic acid → 

Pyruvic acid 

III. 2-phosphoglyceric acid → 

phosphoenol pyruvic acid 

IV. 3-phosphoglyceric acid → 2-

phosphoglyceric acid 

1) Only I and II 

2) Only II and III 

3) Only III and IV 

4) Only I and IV 
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114. dkWyedkWyedkWyedkWye - I esa fn, x, feJ.k dk feyku 
dkWyedkWyedkWyedkWye - II esa fn, x, muds i`FkDdj.k dh 
fof/k ls dhft, % 

    dkWyedkWyedkWyedkWye - I    dkWyedkWyedkWyedkWye - II 

(a) ty esa rsy dk 
feJ.k 

(b) vkVs esa feyk gqvk 
yksgs dk pw.kZ 

(c) ty esa ued dk 
feJ.k 

(d) pkoy ds vkVs esa 
jktek feyk gqvk 

(i) Nkuuk 
 

(ii) fuFkkjuk 
 

(iii) pqEcd 
 

(iv) ok"iu 

    
    
lghlghlghlgh fodYi gS % 

1) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii) 

2) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i) 

3) (a)-(iv), (b)-(i), (c)-(ii), (d)-(iii) 

4) (a)-(ii), (b)-(iii), (c)-(i), (d)-(iv) 

  

114. Match the mixture given in 

Column - I with their method of 

separation given in Column - II : 

 Column - I Column - II 

(a) Oil mixed 

with water 

(b) Iron powder 

mixed with 

flour  

(c) Salt mixed 

with water 

(d) Kidney beans 

mixed with 

rice flour 

(i) Sieving 

 

(ii) Decantation 

 

 

(iii) Magnet 

 

(iv) Evaporation 

Correct option is : 

1) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii) 

2) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i) 

3) (a)-(iv), (b)-(i), (c)-(ii), (d)-(iii) 

4) (a)-(ii), (b)-(iii), (c)-(i), (d)-(iv) 

115. ,d 210 okWV dk cYc 5 feuV esa fdruh 
dSyksjh Å"ek mRiUu djsxk \ 

[ 4.2 twy = 1 dSyksjh yhft, ] 

1) 63,000 dSyksjh 

2) 80,000 dSyksjh 

3) 15,000 dSyksjh 

4) 10,500 dSyksjh 

  

115. A bulb of 210 W will produce heat 

in calorie within 5 minutes  ? 

[Take  4.2 J = 1 cal.] 

1) 63,000 cal. 

2) 80,000 cal. 

3) 15,000 cal. 

4) 10,500 cal. 
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116. fdl oSKkfud us loZizFke le>k;k fd 
dksf'kdk,¡ foHkkftr gksrh gSa rFkk ubZ 
dksf'kdkvksa dk l`tu iwoZ dksf'kdkvksa ls gh 
gksrk gS % 
1) okYFkj ¶ysfeax  
2) #MksYQ fojpks 
3) jkWcVZ gqd 
4) 'ykbMsu rFkk 'oku 

  

116. The scientist who first explained 

that cells divide and new cells are 

formed from pre existing cells is : 

 

1) Walther Flamming  
2) Rudolf Virchow  
3) Robert Hooke 
4) Schleiden and Schwann  

117. fuEufyf[kr esa ls dkSu-ls Å"ek{ksih izØe 
gSa \ 
(i) fcuk cq>s pwus dh ty ls vfHkfØ;k 
(ii) vEy dk ruqdj.k 
(iii) ty dk ok"iu 
(iv) diwj ¼fØLVy½ dk Å/oZikru 
 
1) (i) rFkk (ii) 
2) (ii) rFkk (iii) 
3) (i) rFkk (iv) 
4) (ii) rFkk (iv) 

  

117. Which of the following are 

exothermic processes ? 

(i) Reaction of water with quick lime 
(ii) Dilution of an acid 
(iii) Evaporation of water 
(iv) Sublimation of camphor 

(crystals)  
1) (i) and (ii) 

2) (ii) and (iii) 

3) (i) and (iv) 

4) (ii) and (iv) 

118. fuEu esa ls lghlghlghlgh fodYi dkSu-lk gS \ 
1) lihZ ?k"kZ.k > yksVfud ?k"kZ.k > LFkSfrd 

?k"kZ.k 
2) yksVfud ?k"kZ.k > lihZ ?k"kZ.k > LFkSfrd 

?k"kZ.k 
3) yksVfud ?k"kZ.k > LFkSfrd ?k"kZ.k > lihZ 

?k"kZ.k 
4) LFkSfrd ?k"kZ.k > lihZ ?k"kZ.k > yksVfud 

?k"kZ.k 

  

118. Which is correct option in 

following ? 

1) Sliding fraction > Rolling 

fraction > Static fraction 

2) Rolling fraction > Sliding 

fraction > Static fraction 

3) Rolling fraction > Static 

fraction > Sliding fraction 

4) Static fraction > Sliding 

fraction > Rolling fraction 
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119. Øk;ksykbV dk jklk;fud lw= gS % 

1) Al2O3 . 2H2O 

2) Na3AlF6 

3) Na2AlF6 

4) NaAlF3 

  

119. The chemical formula of cryolite is : 

1) Al2O3 . 2H2O 

2) Na3AlF6 

3) Na2AlF6 

4) NaAlF3 

120. buesa ls fdl Qkbye ¼la?k½ esa can 

ifjlapj.k rU= ik;k tkrk gS \ 

1) ,usfyMk 

2) vkFkzksZiksMk 

3) eksyLdk 

4) bdkbuksMesZVk  

  

120. Which one of these phylum possess 

closed circulatory system ? 

1) Annelida  

2) Arthropoda  

3) Mollusca  

4) Echinodermata  

121. ,d dqyh 15 fdyksxzke dk otu /kjrh ls 

2.0 ehVj Åij mBkdj vius flj ij 

j[krk gSA dqyh }kjk otu ij fd;k x;k 

dk;Z gS % [g = 10 m/s2 yhft,] 

 

1) 300 U;wVu ehVj 

2) 30 U;wVu ehVj 

3) 600 U;wVu ehVj 

4) 3 U;wVu ehVj 

  

121. A porter lifts a luggage of 15 kg 

from ground and puts it on his 

head 2.0 m above the ground. The 

work done by porter on the 

luggage is :  [Take g = 10 m/s2] 

1) 300 Nm 

2) 30 Nm 

3) 600 Nm 

4) 3 Nm 
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122. fuEu esa ls fdl lsV dh eNfy;k¡ [kkus 
;ksX; gSa \ 

1) dVyk] jksgw] fgYlk rFkk ikseÝsV 

2) >haxk] lkjMkbUl] >haxk eNyh rFkk jksgw 
 

3) >haxk] >haxk eNyh] dsdM+k rFkk lhi  
 

4) jksgw] eSdsjy] >haxk eNyh rFkk dsdM+k  

  

122. Which of the following set of fishes 

are edible ? 

1) Catla, Rohu, Hilsa and Pomfret 

2) Prawn, Sardines, Lobsters and 

Rohu 

3) Prawn, Lobsters, Crab and 

Oysters  

4) Rohu, Mackerel, Lobsters and 

Crab   

123. izkFkfed yfldkHk vax dkSu-ls gSa \ 
 

1) Iyhgk rFkk ylhdk xzfUFk;k¡ 

2) Vk¡fly rFkk is;lZ iSpst  

3) vfLFk eTtk rFkk Fkkbel  

4) Fkkbel rFkk ifj'ksf"kdk 

  

123. What are the primary lymphoid 

organs in the body ? 

1) Spleen and lymph nodes  

2) Tonsils and payer's patches  

3) Bone marrow and thymus  

4) Thymus and appendix  

124. fuEufyf[kr esa ls dkSu-lk dFku lgh ughaughaughaugha 
gS \ 

1) tc ,d eksecÙkh tyrh gS] rks HkkSfrd 
rFkk jklk;fud ifjorZu nksuksa gksrs gSaA 
 

2) vok;oh; thok.kq i'kqvksa ds vif'k"V 
dks ipkrs gSa rFkk ck;ksxSl mRiUu 
djrs gSaA 

3) vkW;ju dh ,d ijr dk ftad ds 
Åij fu{ksi.k xSYouhdj.k dgykrk gSA 

4) jcj cS.M dks [khapuk ,d HkkSfrd 
ifjorZu gSA 

  

124. Which of the following statement is 

not true ? 

1) When a candle burns, both 

physical and chemical changes 

take place. 

2) Anaerobic bacteria digest 

animal waste and produce 

biogas.  

3) Depositing a layer of iron on 

zinc is called galvanization. 

4) Stretching of rubber band is a 

physical change. 
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125. tc Xykses#yj fQYVªsV ¼o`DdxqPN fuLianu½ 

nj de gks tkrh gS] rc dkSu-lk gkWeksZu 

o`DdxqPN esa jDr izokg dks c<+krk gS \ 

 

1) ,aVhMkb;wjsfVd gkWeksZu ¼,0 Mh0 ,p0½ 

2) jsfuu 

3) ,aft;ksVsfUlu  

4) ,YMksLVsjkWu  

  

125. When glomerular filteration rate 

falls which of the following hormone 

is released to stimulate glomerular 

blood flow ?  

1) ADH (Antidiuretic hormone) 

2) Renin  

3) Angiotensin  

4) Aldosterone  

126. fuEu esa ls Hkkjr esa dkSu-lh ljhl`i iztkfr 

xaHkhj :i ls yqIrizk; gS \ 

 

1) ?kfM+;ky 

2) caxky eksfuVj xksf/kdk  

3) lk¡i dh ekSlh 

4) gjk dNqvk  

  

126. Which of the following species is 

critically endangered reptile in 

India ? 

1) Gharial  

2) Bengal Monitor  

3) Common Skink  

4) Green Turtle  

127. ,d mÙky niZ.k dh oØrk f=T;k 3.0 

ehVj gSA ;fn ,d fcEc bl niZ.k ls 5.0 

ehVj nwjh ij fLFkr gS] rks izfrfcEc dh 

fLFkfr gksxh %  

1) +2.14 ehVj 

2) –1.15 ehVj 

3) –2.14 ehVj 

4) +1.15 ehVj 

  

127. A convex mirror has a radius of 

curvature of 3.0 m. If a object is 

located at 5 m from the mirror, 

then position of image is : 

1) +2.14 m 

2) –1.15 m 

3) –2.14 m 

4) +1.15 m 
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128. dksbZ oLrq ftldk nzO;eku m fdyksxzke gS] 

5 ehVj@lsd.M osx ls xfr'khy gS rFkk 

oLrq dh xfrt ÅtkZ 25 twy gSA ;fn oLrq 

ds osx dks rhu xquk c<+k fn;k tk;s] rks 

bldh xfrt ÅtkZ gksxh % 

1) 225 twy 

2) 75 twy 

3) 450 twy 

4) 375 twy 

  

128. The kinetic energy of an object of 

mass m moving with velocity 5 m/s 

is 25 J. If velocity of this object 

increased by three times, then 

kinetic energy will be : 

1) 225 J 

2) 75 J 

3) 450 J 

4) 375 J 

129. fuEu esa ls dkSu-lk mÙkstukRed U;wjksVªk¡lfeVj 

gS \ 

1) Xykblhu 

2) Mksikehu 

3) ,sflfVydksfyu 

4) xkck ¼xkek vehuksC;wVkbfjd ,flM½ 

  

129. Which one of these is a excitatory 

neurotransmitter ?  

1) Glycine  

2) Dopamine  

3) Acetylcholine  

4) GABA (Gamma Aminobutyric 

Acid) 

130. fuEu esa ls dkSu-lk ikni ikfjfLFkfrdh 

vuqØe.k dk lghlghlghlgh Øe gS \ 

 

1) e#Øed → tyØed → e/;orhZ Øed 

2) e#Øed → e/;orhZ Øed → tyØed  

3) e/;orhZ Øed → e#Øed → tyØed 

4) tyØed → e/;orhZ Øed → e#Øed 

  

130. Which of the following is the 

correct sequence of succession in 

plants ? 

1) Xerarch → Hydrarch → Mesic 

2) Xerarch → Mesic→ Hydrarch 

3) Mesic → Xerarch → Hydrarch  

4) Hydrarch → Mesic → Xerarch 
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131. okguksa esa i'p-n`'; niZ.kksa ds :i esa   
dkSu-lk niZ.k mi;ksx esa fy;k tkrk gS \ 

1) mÙky niZ.k 

2) vory niZ.k 

3) mÙky ,oa vory nksuksa ,d-lkFk 
 

4) buesa ls dksbZ ugha  

  

131. In which the following mirror is 

used as rear view in vehicle ? 

1) Convex mirror  

2) Concave mirror 

3) Both convex and concave 

mirror together  

4) None of these 

132. ,d la'ysf"kr viektZd dk tyLusgh fljk 
gS % 

1) CH3 – (CH2)10 – CH2 – 

2) −
3CO  Na+ 

3) −
3SO  Na+ 

4) COO
–
 Na+ 

  

132. The hydrophilic end of a synthetic 

detergent is : 

1) CH3 – (CH2)10 – CH2 – 

2) −
3CO  Na+ 

3) −
3SO  Na+ 

4) COO
–
 Na+ 

133. fuEu esa ls dkSu-lk gkWeksZu ân; }kjk lzkfor 
fd;k tkrk gS \ 

1) ,fVª;y usfVª;wjsfVd QSDVj 

2) ukWj,sMªhusfyu 

3) oSlksizsflu 

4) ,sMªhusyhu  

  

133. One of the following is hormone 

secreted from Heart : 

1) Atrial Netriuretic Factor  

2) Noradrenaline  

3) Vasopressin  

4) Adrenaline 

134. euq"; ds diky esa fdruh psgjs dh 
vfLFk;k¡ ikbZ tkrh gSa \ 

1) 8 

2) 14 

3) 22 

4) 2 

  

134. How many facial bones are there in 

the skull of human ? 

1) 8 

2) 14 

3) 22 

4) 2 
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135. uhps fn, x, midj.k leku rki ,oa nkc 
ij fofHkUu xSlksa ds folj.k dk v/;;u 
djus ds fy, mi;ksx esa vkrk gSA 
 

 

fuEufyf[kr esa ls xSlksa dk dkSu-lk ;qXe 
leku xfr ls fuokZr esa folfjr gksxk \ 
¼fn;k x;k ijek.oh; nzO;eku H = 1 u,   
C = 12 u, N = 14 u, O = 16 u½ 
 
1) NH3 rFkk H2 

2) CO rFkk SO2 

3) CO rFkk N2 

4) NH3 rFkk N2 

  

135. The apparatus given below is used 

to study the diffusion of a number 

of gases at the same temperature 

and pressure.  

 

Which of the following pairs of 

gases would diffuse into vacuum at 

the same speed ? (Given atomic 

mass of H = 1 u, C = 12 u, N = 14 u, 

O = 16 u)  

1) NH3 and H2 

2) CO and SO2 

3) CO and N2 

4) NH3 and N2 

136. uhps nh xbZ /kkrqvksa ds vfHkfØ;k'khyrk ds 
?kVrs gq, Øe esa fuEufyf[kr ls dkSu-lh 
lghlghlghlgh    O;oLFkk gS \ 
ft+ad] vk;ju] eSXuhf'k;e] lksfM;e 

 

1) ft+ad > vk;ju > eSXuhf'k;e > lksfM;e 
 

2) lksfM;e > eSXuhf'k;e > vk;ju > ft+ad 
 

3) lksfM;e > ft+ad > eSXuhf'k;e > vk;ju 
 

4) lksfM;e > eSXuhf'k;e > ft+ad > vk;ju 

  

136. Which of the following is the 

correct arrangement of the given 

metals in descending order of their 

reactivity ?  

Zinc, Iron, Magnesium, Sodium 

1) Zinc > Iron > Magnesium >  

Sodium  

2) Sodium > Magnesium > Iron > 

Zinc 

3) Sodium > Zinc > Magnesium > 

Iron 

4) Sodium > Magnesium > Zinc > 

Iron 

 xSl fuokZr 

lja/kz vojks/k 
Porous Barrier 

 Gas Vacuum 
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137. 'kqØk.kq dk jsrk ufydkvksa ls fudyuk 
dgykrk gS % 
 
1) L[kyu  
2) 'kqØk.kqtuu@LiesZVkstsusfll  
3) 'kqØk.kqdk;kUrj.k@LifeZ;kstsusfll 
4) LifeZ,'ku  

  

137. The process of release of sperm 

from seminiferous tubule is known 

as : 

1) Ejaculation  
2) Spermatogenesis  
3) Spermiogenesis  
4) Spermiation  

138. Tokyk ds fofHkUu {ks=ksa ds lanHkZ esa 
fuEufyf[kr esa ls dkSu-lk dFku lghlghlghlgh gS \ 
1) Tokyk dk lcls ckgjh {ks= lcls xeZ 

Hkkx gksrk gS tgk¡ iw.kZ ngu gksrk gSA 
 

2) Tokyk dk e/; {ks= yky jax dk gksrk 
gSA 

3) Tokyk dk lcls vUnj dk {ks= vkSlr 
¼e/;e½ xeZ gksrk gSA 

4) Tokyk dk lcls vUnj dk {ks= uhys 
jax dk gksrk gSA  

  

138. Which of the following statement is 

correct with respect to flame ? 

1) Outer zone of the flame is its 

hottest part where complete 

combustion takes place.  

2) Middle zone of the flame is of 

red coloured.  

3) Innermost zone of the flame is 

moderately hot.   

4) Innermost zone of the flame is 

of blue coloured.  

139. i`Foh dh lrg ls Åij h Å¡pkbZ ij i`Foh 
ds xq#Roh; izHkko ds dkj.k Roj.k ds eku 
esa vkaf'kd ifjorZu gksxk % 

[fn;k gS  R - i`Foh dh f=T;k] 
 

1) 
R

h
 

2) 
R

h2
1−  

3) 
R

h2
 

4) 
R

h2
1+  

  

139. At a height h above the earth's 

surface the fractional change in 

the value of acceleration due to 

gravity is : 

[Given R - Radius of earth] 

1) 
R

h
 

2) 
R

h2
1−  

3) 
R

h2
 

4) 
R

h2
1+  
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140. fuEu esa ls dkSu-ls ek/;e esa /ofu rjax 
dh pky vf/kd gS \ 
1) gok 
2) Xykl ¼f¶yaV½@dk¡p 
3) ikuh 
4) fuokZr 

  

140. In which of the following media 

speed of sound wave is greater ? 

1) Air 

2) Glass (Flint) 

3) Water 

4) Vacuum  

141. 5 fdyksxzke dk ,d CyWkd fdlh ,d Vscy 
ds Åij j[kk gqvk gSA ;fn CykWd dh 
yEckbZ 10 lseh0] pkSM+kbZ 20 lseh0 ,oa 
Å¡pkbZ 40 lseh0 gks] rc CykWd ds }kjk 
Vscy ij yxus okyk nkc gS % 

[ g = 9.8 m/s2 yhft, ] 
1) 612.5 U;wVu@eh02 
2) 2450 U;wVu@eh02 
3) 1225 U;wVu@eh02 
4) 6125 U;wVu@eh02 

  

141. A block of mass 5 kg is kept on a 

tabletop. If block have length 10 

cm, breadth 20 cm and height 40 

cm, then pressure exerted by block 

of mass 5 kg on the tabletop is :  

[Take g = 9.8 m/s2] 

1) 612.5 N/m2 
2) 2450 N/m2 

3) 1225 N/m2 
4) 6125 N/m2 

142. fuEu esa ls dkSu-lk dFku lR;lR;lR;lR; gS \ 
 
1) ,sYohu ,V- vky- (1979) us lnuZ 

CykWfVax rduhd le>kbZA  
 

2) czqe rFkk fxYcVZ (1978) us ukWnZuZ 
CykWfVax rduhd le>kbZA 
 

3) Vksfou ,V- vky- (1979) us osLVuZ 
CykWfVax rduhd dks le>k;kA 
 

4) bZ- ,e- lnuZ (1975) us IgG dks 
ifj"Ñr fd;kA 

  

142. Which of the following statement is 

true ? 

1) Southern blotting technique is 

developed by Alvine et.al. 

(1979). 

2) Northern blotting technique is 

developed by Broome and 

Gilbert (1978). 

3) Western blotting technique is 

developed by Towin et.al. 

(1979). 

4) E. M. Southern (1975) purified 

IgG.  
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143. izdk'k ok;q ls dk¡p dh IysV esa izos'k djrk 

gS ftldk viorZukad 1.50 gSA ;fn izdk'k 

dh pky fuokZr esa 3 × 10
8 ehVj@lsd.M 

gS] rc dk¡p esa izdk'k dh pky gksxh %   

 

1) 0.5 × 10
8 ehVj@lsd.M  

2) 1 × 10
8 ehVj@lsd.M 

3) 3 × 10
8 ehVj@lsd.M 

4) 1.5 × 10
8 ehVj@lsd.M 

  

143. Light enters from air to glass 

having refractive index 1.50. If the 

speed of light in vacuum is 3 × 10
8
 

m/s, then speed of light in the 

glass is : 

1) 0.5 × 10
8
 m/s  

2) 1 × 10
8
 m/s 

3) 3 × 10
8
 m/s 

4) 1.5 × 10
8
 m/s 

144. fuEufyf[kr esa ls dkSu-lk vEy-{kkj lwpd 

gS \ 

1) fljdk 

2) pwus dk ikuh 

3) gYnh 

4) csfdax lksMk 

  

144. Which of the following is an acid-

base indicator ? 

1) Vinegar  

2) Lime water 

3) Turmeric  

4) Baking soda  

145. fuEufyf[kr esa ls dkSu-lk dFku foKku dh 

izÑfr dh lcls mi;qDr O;k[;k djrk gS \ 

 

1) oSKkfud vius dk;ksZa esa iw.kZr% 

mís';ijd gksrs gSaA 

2) 'kks/k dk;Z lapkyu ds fy, oSKkfud 

fof/k gh dsoy ,dek= funsZf'kdk gSA 
 

3) foKku fo'oklksa dh iz.kkyh gSA 

4) foKku izÑfr esa lkekftd gSA 

  

145. Which of the following statement 

best describes the nature of 

science ? 

1) Scientists are totally objective 

in their work.  

2) The scientific method is the 

only guide for conducting 

research.  

3) Science is a system of belief's.  

4) Science is social in nature.  
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146. vySafxd tuu ls mRiUu larfr gksrh gS % 
 
1) dsoy vkdkfjdh esa leku 
2) dsoy vkuqoaf'kdh esa leku 
3) vkdkfjdh o vkuqoaf'kdh esa leku 
 
4) vkdkfjdh o vkuqoaf'kdh esa fHkUu 

  

146. The offsprings produced after 

asexual reproduction are :  

1) Only morphologically same  
2) Only genetically same 
3) Morphologically and genetically 

same 
4) Morphologically and genetically 

different  

147. /kkrqvksa ds fu"d"kZ.k esa fuEufyf[kr esa ls 
dkSu-lk mi;ksx esa vkrk gS \ 
1) dksd 
2) dksy xSl 
3) dksyrkj 
4) isVªksfy;e  

  

147. Which of these is used in 

extraction of metals ? 

1) Coke 

2) Coal gas  

3) Coaltar  

4) Petroleum  

148. fuEufyf[kr esa dkSu-ls dFku lR;lR;lR;lR; gSa \ 
 
I. ?kjsyw eD[kh esa lks[ksu ¼Liath½ izdkj ds 

eq[kkax ik;s tkrs gSaA 
II. e/kqeD[kh esa Ñard rFkk po.kZd izdkj 

ds eq[kkax ik;s tkrs gSaA 
III. frryh esa foukyh; izdkj ds eq[kkax 

ik;s tkrs gSaA 
IV. dkWdjksp esa po.kZ rFkk ysgudkjh 

eq[kkax ik;s tkrs gSaA 
1) dsoy II rFkk III 
2) dsoy I rFkk III 
3) dsoy I rFkk II 
4) dsoy II rFkk IV 

  

148. Which of the following statements 

are correct ? 

I. Housefly have sponging type 

of mouthparts. 
II. Honey-bee have biting and 

chewing type of mouth parts.  

III. Butterflies have siphoning type 

of mouthparts.  
IV. Cockroaches have chewing and 

lapping type of mouthparts.  

1) Only II and III 
2) Only I and III 
3) Only I and II 
4) Only II and IV 



[ 46 / A ] 

[ Level-2 / 1211 ]   

149. Hkwjk dks;yk] ftlesa dkcZu vo;o 
(60-70%) de] mPp ueh rFkk fo|qr 
mRiUu djus ds fy, 'kfDr la;a=ksa esa dke 
vkrk gS] og gS % 
 

1) ihV 

2) fyXukbV 

3) fcVqfeul  

4) ,sUFkzslkbV 

  

149. A brown coal, low in carbon 

content (60-70%), high in moisture 

content and generally used in 

power plants to produce electricity 

is : 

1) Peat 

2) Lignite  

3) Bituminous  

4) Anthracite  

150. fuEufyf[kr esa ls dkSu-ls dFku lghlghlghlgh gSa \ 
 

(i) voLFkk ifjorZu ds nkSjku rki 
ifjofrZr gksrk gSA 

(ii) lkekU; ok;qe.Myh; ifjfLFkfr;ksa esa 
'kq"d cQZ lh/ks xSlh; voLFkk esa 
ifjofrZr gks tkrh gSA 

(iii) nzo dk mPp DoFkukad] nqcZy 
vUrjvkf.od cyksa dks n'kkZrk gSA 
 

(iv) fdlh inkFkZ ds fy, xyu dh xqIr 
Å"ek dh rqyuk esa ok"iu dh xqIr 
Å"ek vf/kd gksrh gSA 

lghlghlghlgh fodYi gS % 
1) (i) rFkk (iv)  

2) (ii) rFkk (iv) 

3) (ii) rFkk (iii)  

4) (iii) rFkk (iv) 

  

150. Which of the following statements 

are correct ? 

(i) Temperature changes during 

the change of a state.  

(ii) Dry ice gets converted directly 

into gaseous state under 

normal atmospheric conditions.  

(iii) Higher boiling points of liquid 

indicates weaker intermolecular 

forces.  

(iv) Latent heat of vaporization is 

generally higher than the latent 

heat of fusion for a substance.  

Correct option is : 

1) (i) and (iv)  

2) (ii) and (iv) 

3) (ii) and (iii)  

4) (iii) and (iv) 
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6. iz'uksa ds mÙkj] mÙkj i=d esa fu/kkZfjr [kkuksa dks dkys ckWy IokbaV iSu ls 
iw.kZr;k Hkjuk gS] tSlk fd uhps fn[kk;k x;k gS % 

1    �    3    4 
vki }kjk fn;k x;k mÙkj xyr ekuk tk,xk] ;fn mÙkj okys [kkus dks 
fuEu izdkj ls Hkjrs gSa % 

�    �    �    � 
;fn ,d ls T;knk [kkuksa dks Hkj nsrs gSa rks vkidk mÙkj xyr ekuk 
tk,xkA 

  6. Answers   to  questions  in answer sheet are  to  be  given by 

darkening complete circle using Black ball point pen as shown 

below : 

1    �    3    4 

The answer will be treated wrong, if it is marked, as given below : 

�    �    �    � 

If you fill more than one circle it will be treated as a wrong 

answer. 

7. jQ dk;Z iz'u&iqfLrdk esa bl iz;kstu ds fy, nh xbZ [kkyh txg ij gh djsaA / Rough work should be done only in the space provided in the 

Question Booklet for the same. 

8. lHkh mÙkj dsoy OMR mÙkj i=d ij gh vafdr djsaA vius mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus gsrq 'osr jatd ¼lQsn ¶Y;wM½ dk iz;ksx fuf"k) gSA / 
The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not 

allowed for changing answers. 

9. izR;sd iz'u ds fy, fn, x, pkj fodYiksa esa ls mfpr fodYi ds fy, OMR mÙkj i=d ij dsoy ,d o`Ùk dks gh iwjh rjg dkys ckWy IokbaV iSu ls HkjsaA 
,d ckj mÙkj vafdr djus ds ckn mls cnyk ugha tk ldrk gSA / Out of the four alternatives for each question, only one circle for the most 

appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is 

not allowed to be changed. 

10. vH;FkhZ lqfuf'pr djsa fd bl mÙkj i=d dks eksM+k u tk, ,oa ml ij dksbZ vU; fu'kku u yxk,¡A vH;FkhZ viuk vuqØekad mÙkj i=d esa fu/kkZfjr LFkku 
ds vfrfjDr vU;= u fy[ksaA / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the 

Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet. 

11. iz'u&iqfLrdk ,oa mÙkj i=d dk /;kuiwoZd iz;ksx djsa] D;ksafd fdlh Hkh ifjfLFkfr esa [iz'u&iqfLrdk ,oa mÙkj i=d ds Øekad esa fHkUurk dh fLFkfr dks 
NksM+dj] nwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhA / Handle the Question Booklet and Answer Sheet with care, as under no 

circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not 

be provided.] 

12. iz'u&iqfLrdk@mÙkj i=d esa fn, x, Øekad dks vH;FkhZ lgh rjhds ls gLrk{kj pkVZ esa fy[ksaA / The candidates should write the correct Number as 

given in the Question Booklet/Answer Sheet in the Signature Chart. 

13. vH;FkhZ dks ijh{kk gkWy@d{k esa izos'k i= vkSj igpku i= ds vfrfjDr fdlh izdkj dh ikB~;&lkexzh] eqfnzr ;k gLrfyf[kr dkxt dh ifpZ;k¡] istj] eksckby 
Qksu] bysDVªkWfud midj.k ;k fdlh vU; izdkj dh lkexzh dks ys tkus ;k mi;ksx djus dh vuqefr ugha gSA / Candidates are not allowed to carry any 

textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit 

Card and Identity Card inside the examination hall/room. 

14. i;Zos{kd }kjk iwNs tkus ij izR;sd vH;FkhZ viuk izos'k dkMZ [jksy ua0] vkSj igpku i= fn[kk,¡A / Each candidate must show on demand his/her 

Admit Card [Roll No.] and identity card to the Invigilator. 

15. dsUnz v/kh{kd ;k i;Zos{kd dh fo'ks"k vuqefr ds fcuk dksbZ vH;FkhZ viuk LFkku u NksMa+sA / No candidate, without special permission of the 

Superintendent or Invigilator, should leave his/her seat. 

16. dk;Zjr i;Zos{kd dks viuk mÙkj i=d fn, fcuk ,oa gLrk{kj pkVZ ij nksckjk gLrk{kj fd, fcuk vH;FkhZ ijh{kk gkWy ugha NksMa+sxsA ;fn fdlh vH;FkhZ us 
nwljh ckj gLrk{kj pkVZ ij gLrk{kj ugha fd, rks ;g ekuk tk,xk fd mlus mÙkj i=d ugha ykSVk;k gS vkSj ;g vuqfpr lk/ku dk ekeyk ekuk tk,xkA 
OMR    mÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFkmÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFkmÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFkmÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFk    ds vaxwBs dk fu'kku yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk ds vaxwBs dk fu'kku yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk ds vaxwBs dk fu'kku yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk ds vaxwBs dk fu'kku yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk 
/;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh cgqr deA/;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh cgqr deA/;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh cgqr deA/;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh cgqr deA / The candidates should not 
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart 

twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the 

Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR 

answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in 

nature. 

17. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA / Use of Electronic/Manual Calculator is prohibited. 

18. ijh{kk gkWy esa vkpj.k ds fy,] vH;FkhZ foojf.kdk esa nh xbZ izfØ;k@fn'kk&funsZ'k o cksMZ ds lHkh fu;eksa ,oa fofu;eksa dk fo'ks"k /;ku j[ksaA vuqfpr lk/kuksa ds 
lHkh ekeyksa dk QSlyk cksMZ ds fu;eksa ,oa fofu;eksa ds vuqlkj gksxkA / The candidates are governed by Guidelines/Procedure given in the 

Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair 

means will be dealt with as per Rules and Regulations of the Board. 

19. fdlh gkyr esa iz'u&iqfLrdk vkSj mÙkj i=d dk dksbZ Hkkx vyx u djsaA (No part of the Question Booklet and Answer Sheet shall be detached 

under any circumstances. 

20. ijh{kk lEiUu gksus ij] vH;FkhZ d{k@gkWy NksM+us ls iwoZ mÙkj i=d d{k&i;Zos{kd dks vo'; lkSai nsaA vH;FkhZ vius lkFk bl iz'u&iqfLrdk dks ys tk ldrs 
gSaA / On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates 

are allowed to take away this Question Booklet with them. 
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